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Write your Hall Ticket Number in the space provided on the
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This paper consists of seventy five muitiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested

below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in
serial order or any other discrepancy should be
got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

After this verification is over, the Test Baoklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (4), (B),
(C) and (D). You have to darken the circle as indicated
below on the correct response against each item.

Example : @ . @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Answer Sheet given to you. If you mark at any place
other than in the circle in the OMR Answer Sheet, it will
not be evaluated. .

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
OMR Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, you will
render yourself Liable to disqualification.

The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall The candidate is allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Booklet at the end of the examination.
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10. Use only Blue/Black Ball point pen.
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12. There is no negative marks for incorrect answers.
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Who among the following said that
progress is to be measured by the
amount of suffering undergone by the
sufferer ?

(A) M.N. Roy

(B) Jayaprakash Narayan
(C) Mahatma Gandhi

(D) B.R. Ambedkar

In which year Mahatma Gandhi started
a fast unto death against Ramsay
Macdonald communal award ?
(A) 1930 (B) 1931
(C) 1932 (Dy 1933

Given below are two Statements, one is
labelled as Assertion (A) and other
labelled as Reason (R). Identify the
correct answer from the codes given
below :

Assertion (A) :

No genuine understanding of Aristotle
can endorse the opinion that his
philosophical system was the opposite
of Plato’s.

Reason (R) :

Aristotle’s system is an attempt to found
an idealism free from the defects of
Plato’s system.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and (R)
.18 not the correct explanation of

(A).
(CY (A) is true but (R) is false.
(D) (A) is false and (R) is true.

Paper-II1

1.

‘DEH JoF LD 0D ors® o3n
@é.’)ée)gé QS Bodrdo’ OJHH A5 ?
(A) 20.28. oodd

(B) achHsrd aooechd

(0) ey rob

(D) 9.e8. woBs)5

oeo® aogﬁ‘mef EBogses SRS
$;88%ore fooK)é‘\)éoeSS Sostam) mo&
st oS & z':"SoJeJ;tS) ?

(A) 1930 (B) 1931

(C) 1932 (D) 1933

8ol (BOFES (A), T (R) o3 8o

[@D5e5en aTnon. A NS 56D o

23S 580 Dol ¥B% :oé:omw?o& Qo

JoHok ;

(PBIFES (A) :

©OPAS Dodze 5B, 8550 apligm

eguhlo B, 08 DoBTE Seavere, Jois?

BP8GE 5588 558080 @l IHBsw.

THPH (R) :

L&’ HOFOS WGy 95600 Y

EIPRoSED 0d PSS Boo&o e ©o

®Nod.

585‘\) e ,

4) (A), (R) Do&» DEJEM $DSI
H8aid (R), (A) H IBS D58e

(B) (A), (R) Boir DADAM 3353 =D,
(R), (A) ® IBS DH58es =%

(C©) (A)agdy =0 (R) )

D) (A& =0 (R) iy

C-19-17




Which of the following statements 1s not
true in case of Plato ?

(A) Ideas are universal

(B) Ideas are essences of all things

(C) Ideas are immutable and

imperishable

(D) Ideas are reflections of things

Whose ideas among the following were
incorporated in the philosophical
radicalism of the Utilitarians and in
Austin’s theory of sovereignty ?

(A) Machiavelli
(B) Thomas Hobbes
(C) John Locke

(D) Rousseau

Who among the following said that a
thinking man is a depraved animal ?

(A) Hobbes
(B) Locke
(C) Rousseau

(D) J. Bentham

Paper-II1

WU

808 QS P Sowodo SR wowdy
1HBoSod.

(A) graren DHFTHIND
(B) o) Shde wodFso 2P
(O) graren S8y ok, PEI0 2

(D) graren SHPe H8Hozren

3erIRE ol 26083,
E5DrABTE0S%S, 8}S HBFB0ID
PEETIrOTE rHSE*8, & (8o 088
258 Dodde |HseBodTran ?

(A) JIr8cH3

B) THT )

(C) &S o8

(D) &reP

‘@St D0T H0h ©IBE 208HH’ o
3035 ?

&) 8
(B) o8
(C) GrRF

(D) B.8ogra

C-19-17




AR A

7.  Match List - I with List - IT and select
the correct answer from the codes
given below :

List - I List - IT
(Authors) (Concepts)
(a) Charles Beitz (i) Justice as
Entitlement

(b) Susan Moller
Okin

(1) Communitarian
Perspective of
Justice

(1) Global Justice

(iv) Feminist
Conception of
Justice

(¢) R. Nozick

(d) Michael
Walzer

Codes :

(@ (b) (o)
A) (i Gv) @
B) () (Gi) Gv) @)
© @ G) @) @)
M vy & @) (i)

(d)
(1)

8.  Which of the following books are not
written by Robert Nozick ?

(A)
(B)
©
D)

Anarchy, State and Utopia
Philosophical Explanations
The Nature of Rationality
The Unexamined Life

9.  Who among the following compares the
organisations of Civil Society to a
powerful system of ‘fortresses and earth
works’ standing behind the state ?

GV
(B)
(€
D)

Gramsci
Karl Marx
R.H. Putnam
Hegel
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11,

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the
correct answer from the codes given
below :

Assertion (A) :

For Gramsci the state cannot be
understood without a thorough
understanding of the Civil Society.

Reason (R) :

It is in Civil Society that the struggle
for hegemony between the two
fundamental classes takes place.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)

is not the correct explanation of
(A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) 1s true.

Who among the following denounced
ideology as an idea that was radical,
sinister, doctrinaire and abstract - a
cloudy metaphysics that ignores history
and reality ?

(A)
(B)
(C)
®)

Bernard Crick
Habermas
Mclellan

Napoleon
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12.

13.

14.

15.

Who of the following said that God had
appeared to him in the prison, placed
the Gita in his hands and made him
realise the simple truths of the
Sanatana Dharma ?

(A) MXK. Gandhi

(B) M.N. Roy

(C) Aurobindo Ghose
(D) Savarkar

Decline of political theory refers to :

(A) Decline of empirical political
theory.

(B) Decline of normative political
theory.

(C) Decline of both empirical and
normative political theories.

(D) Decline of positivism.

Who among the following defines
political theory as quite simply, man’s
attempts to consciously understand and

solve the problems of his group life and

organisation ?
(A) G.H. Sabine
(B) Garner

(C) Plamentaz
(D) Ebenstein

Who among the following said that the
emancipation of the working class is the
work of the working class itself ?

(A} Plekhanov
(B) Karl Marx
(C) Lenin
(D) Stalin
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16.

17.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Choose the
correct answer from the codes :

Assertion (A) :

Comparative politics seeks to compare
and contrast the similarities and
dissimilarities among the political
systems.

Reason (R) :

The study of Comparative governments
mostly confined to the European
governments.

Codes :

(A) Both (A) and (R) are individually
true and (R) is correct explanation
of (A).

Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A).

(A) is true but (R) is false.
(A) is false but (R) is true.

(B)

©)
)

Arrange them in chronological order of
publications.

(a) The political system : An Enquiry
into the state of Political Science.

(b) The Structure of Social Action.
(¢) Passing of Traditional Societies.
(d) The Politics of Developing Areas.
Codes :

(&) (a), (), (c) and (d)

(B) (), (d), (a) and (c)

(© (a), (¢, (b) and (d)

D (@), @), () and (b)
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18. Match the following : _ 18. 8% - 160 worod I8 - 1165
List -1 List - II oz’ IO aEHHHET BB BESH
Authors Books BoSod :

(a) Herman (1) Process of ' 385 -1 S8% - I
Finer Government SScndes Sbren
(b} Carl (ii) Theory and - - : -.:— e
Freidrich Practice of Modern (@) mé&S 296 () @D
Government R5G)boes
(c) Lord Bryce (iti) Constitutional b) 52§ PES (i) §oHd wo& @°§5
Government and e s
Democracy 555&3305
(d) Arthur (iv) Modern § i35 82 6a700s%
Bently Democracies () e3@e (it :; g’&oi?zeza
Codes : Ba;}_éﬁa
@ () © (@ @) og5Bod (iv) 3reh) BRrESS
Ay G) @@ @) @) 565"3 -
B) @) Gv) @) @ @ (b (¢) ()
(C) @) Qi) Gv) @ A) @) @ @) @)
D) Gi) Gi) @ (v (B) @) Gv) (i) @)

© Gy Gi) Gv) @
. D o A . .
19. Which of the following are correctly D) @ @) & @)

matched ?
() David E. Apter :Social 19. 800arQ6" JBre 28555088 soben OSP
a) David E. Apter :Socia
Stratification 280D 808 ads §&o Hod B3
(b) C.E. Black : The Dynamics ‘oémt;vmﬁ)& godod.
of Modernization (a) BDE = @és : PRS @;éﬁ%ﬁa’ﬁ
(¢} Jean Blondel : Comparative (b} D.2. o5 : & ZIWE) 8 JrEEIRRS
Political Systems (©) &S epoBS : Sor0BS FOBES Vg
(d) Robert A. Dahl : i&;:leyrsrisPohtmal (d) U‘eag QS - 576G SPOBES ©DRS
Codes : g‘&Q :

(A4) (a), (b) S8k (0) S
(B) (), (©) B (d) SESDH
(€ (a), () SO (d) SmSD
(D) (a) bk (d) Sm|gd

(A) (a), (b) and (c) only
(B) (b), (¢) and (d) only

(C) (), (¢) and (d) only

(D) (@) and (d) only
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20.

21.

22.

Following are two statements one is
Assertion (A) and other is Reason (R).
See the following and select the correct
answer.

Assertion (A) :

Interest groups are the linkage
institution of the political system and
social forces, in both authoritarian and
democratic Regimes.

Reason (R) :

Interest groups are association of like
minded people or small groups, which
take action to influence the content of
public policy in their own favour.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A).

(A) and (R) are true but (R) is not
correct explanation of (A).

(A) is correct but (R) is false.
(A) is false but (R) is true.

(B)

©)
)

Which one of the following is not a
feature of Constitutionalism ?

A)
®)
©)
)

Limited Government
Supremacy of individual
Supremacy of law

Division of power

Which one of the following is not a
contributing factor for development ?

(A)
B)
©)
D)

Abundance of natural resources
Character of People
Frequent Elections
Level of Technology
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23.

24,

25.

26.

Who defined Political Socialisation as
the “Individual’s learning of Social
Patterns Corresponding to his Social
Positions as mediated through various
agencies of society” ?

(A) Gabriel A. Almond

(B) David Easton

(C) Fred I. Greenstein

(D) Herbert Hyman

Who said “political culture consists of a
set of attitudes, beliefs and sentiments
which give order and meaning to
political process and which provide the
underlying assumptions and rules that
govern behaviour in the political
system” ?

(A)
(B)
(%)
(D)

Sidney Verba
Lucian W. Pye
Gabriel A. Almond
David Apter

The author of the book “A System
Analysis of Political Life” is :

(A) David Apter

(B) James S. Coleman
(C) David Easton

(D) Talcott Parsons

What is the correct sequence of the
following characteristics of political
development ?

{a) Capacity

(c) Differentiation
Codes :

(A)  (a), (b) and (c)
(B) (b), (a) and (c)
(C) (o), (a) and (b)
(D) (c), () and (a)

(b) Equality
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27. Match the following :

List-1
Regime Type

(a) Liberal
Democracy

(b) Closed
Autocracy

(c) Electoral
Democracy

(d) Serm Liberal
Autocracy

Codes :

(a) (b)

A W O

(B) (Gv) (i)

(Cy @v) (Gi)

D) Gv) (D)

Paper-III

List - 11
Socio economic
pluralism
(i) Extensive Social and
economic plurality
(ii) Some pluralism but
not very viable
(iii) No Significant
political and Social
pluralism
{iv) Many autonomus
actors in economy
and society but not
equal in capacity

(c)

(d)

(1) (i)

@ @)

(i) @

(i) @

12

G AP

27. $8% -16% worodH S8E - &

woes® SOM 2SH5HHEE IS SFED

18osod ¢
S8E -1 588 - 11
[ [~}

(Be08g Erdo  ;ErRE Q¥ asegEl

(a) AL 1) e DED
(eredreugo ApHeRE, eagé
@SEE0
(b) Froldrrond (i) BPod FvEE0
BP0 6T ob wchds
B0
(© oRpse (1ii) e BS°EAS
(DeregSogo Fsres, ovebod

S0 aoXd

@) ©f ATPETE (iv) 3% Soo Sl

.’Dé:?ﬁséaéo FSr2E Q)oTTe,

($Sedd I 0w
aotran. wond H
48 yooyd’
edrdE8 eotwod

g8, :

(a () (© (@)

(v) () @) (i)

v) (i) @ @)

(iv) (1) @) @

(v) (i) () @

(A)
(B)
©
D)
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28. Which among the following are not the
defining features of liberal democracy ?
(a) DPolitical power in the hands of
elite

(b) Strong and uncontrollable
government

() Full and equal rights of political
participation

(d) Legally based state with effective
and fair governance

Codes :

(A) (a), (b) and (d) only

(B) (a) and (d) only

(C) (a), {c) and (d) only

(D) (a) and (b) only

29. The statement of Adom Prezeworski
“Democracy is a system in which parties
lose elections” means :

(a) There is a choice to the Voter

(b) There is always a chance of defeat
for the incumbents in power

(c) Elections are the only acceptable
way to remove government

(d) Election is not a system to
legitimize authority

Codes :

(A) (a) and (d) only

(B) (a), (¢) and (d) only

(C)  (a), (b) and (c) only

(D) (a), (b} and (d) only

Paper-II1
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28. 808 S aorss (e Reg gy oo
50 A ?

29.

(a)

(b)

(¢}

(d)

Sodmod 8o () I8
ohHseSo

S58éhen & 89 Sormeses
g0

D Hoosed ANES®, orudcsrest
FPTS T

Staagore FN Toago - SSHEERERS
Fed

g5 :

(A)
B)
(©)
(D)

(a), (b) SBosw (d) XD
(a) 588w (d) Soo(ad
(a), (c) B (d) HmBEDH
(a) B35 (b) S

5D Zas bRy “Herdno ol oelon
o IYSE L8 196 wdhy Se%”
VTN, S8 Ty S 808 (HAPEIOSS
2D JYRR® B KHoSos,

(a)

(b

(c)

(d)

S.00% @’Ja"egé)adi?e)iﬁ) QOHHI
OHFE0 God.

©55°808° 6%y cradah FHen
IHABT LABSH eSsedo SN
Gotnod,

AYPTe ToE SEED wdses 88
23N Hos

ARpBen BHTR) EPPoBOT HEH
S =%

555“) :

(A)
(B)
(C)
D)

(a) 0B (&) S

(@), (c) 2B%» (d) SorEsH
(a), (b) 0B (¢) ErBD
(a), (b) B (d) S
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30.

31.

Match the following :

List -1 List - II
Authors Books
(a) A. Prezeworski (i) Developing
Democracy
towards
Consolidation

(b) J.A. Schumpeter (1)) Chess game
for Democracy

(¢) L. Diamond (ii1) Capitalism

Socialism and
Democracy

(d) M. Palasik (iv) Democracy

and the
Market

Codes :
(a)
iv)
(iv)
i)
(iv)

(b) (c)
(i) ()
i) @ @)
Gy @ @
@ (i) G

(d)
(A) @
(B)
(C)

0

Political democracy cannot last unless
there lies at the base of it social
democracy. Who made this statement ?

A
®)
©
@)

CR. Das
Motilal Nehru
Dr. B.R. Ambedkar

Sardar Vallabhabhai Patel

Paper-III
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30.

31.

G

588 -1 s oo I8Y¥ - | § (5]
woPod® JOMT wdH%HHed $BS 8D
1HBoEos

HOE -1 H&E -11
-] [>]
Gdanden Dizee

@ .20 () IHedoh A3
€058y EORRS
b B.o. Hodeb (i) 35 A% 6 aarEd

(©) . ol  (iii) segdesdao VHDe0
ool a3rEd

(d) Do.5evE  (iv) B3wEd o8 &

Soped
g :
(a)
@)
(v}
iv)
(iv)

(b)
(iii)
(iii)
(i1)
()

(c)
(i1)
@
@
(iii)

(d)
()
(id)
(iii)
(ii)

(A)
®)
(©)
(D)

oras (Herdrgy D 81 orabod
[SePrgEingo e’ ol FHod N 7
A) 2.e8. R
(B) Reders s
(C) oo D.eb. woB)b

D) %6 SeaerdDd HBS
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32,

33.

34.

At present which of the Directive
principles of State policy enjoys
Superiority over the fundamental
rights ?

(A) All the Directive Principles.

(B) None of the Directive Principles.

(©)

Directive principles contained in
Article 39 (B) and 39 (C) only.
Directive principles pertaining to

environment protection. Article
48 (A).

D)

There are two statements one is labelled
as Assertion (A) and the other is
labelled as Reason (R) select the
correct answer.
Assertion (A) :

The Chief Minister acts as the channel
of communication between the
Governor and the Council of Ministers.

Reason (R) :

He is head of the State Council of
Ministers.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

Both (A) and (R) are correct but
(R) is not the correct explanation
of (A).

(A) is true but (R) is false.
(A) is false but (R) is true.

(B)

©
(D)

The authoritative expression to public
opinion in a democracy is given by :

(A) Print media

(B) Parliament

(C) NGOs

(D) Interest Groups

Paper-ITI
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32. (B%¥0 %% oremsorostd 5 TS

33.

34,

(®B)

ADIrOD (FEDE e Kof &8
(@egrgs afd ?

Q) o B8 dahsren

D VVIE VAHBPIL eérSodd
(Boeigs Sk

BREGe 39 (B) 800 39 (C) en svigsdh
oS08 (erigss KO BT2ow.

DoBes 8K IS e88tem
48 (A).

(©)

(D)

o8 B8FES (A), THH (R) 03 Bos
@50%en amon. B g™ 569 8o
8 88 S0l 585 DEPEETR) Do
B0%0d :

BOES (A) :

Somg0l@ K555, Hool@ ool s
VB PE TEH™ oo,

WHS R) :

doogpgHoo(d 0850248 T AHE S50
SR,

588, :
(A)  (A), (R) e Bo&k» DRDAMm 3B
DBain (R); (A) % $BS DS
(4), (R) e Botkr DADB 5853
R, (R), (A) % 583 9556 5%
A) 2.3 =d R) 83

(A) &3 =D (R) a3y

(B)

(C)
)

8ot B6° (Herdryingost (e diSrasry
PHSBEoe 580 IBod O&° som
180308 :

(A) o H@Sen

(B) rED0ES

(C) SESPen

D) DHers Sgren
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35.

36.

37.

Article 143 of the Indian Constitution
deals with :

(A)
(B)
©)
D}

Original Jurisdiction
Advisory Jurisdiction
Appellate Jurisdiction

Ordinary Jurisdiction

Match the following :
List-I List - 1I
(a) Concurrent list (i) Forests
() State list (i) Police
(c) Union list (iii) Post Office
(d) State list (iv) Public-Health

Codes :

(a) (b) (c} (d)
(A @ Gy G )
B) @ @) @) Gv)
© Gy @) ® G
® @ (@) Gv) )

What was the biggest misuse of
Governor’'s office by Central
Government ?

(a)

Governor's power to appoint and
dismiss Chief Minister.

(b) Misuse of Article 356.
{c) Reporting to the centre,
(d)
Codes :

(A) Only (©
(B) (a) and (¢)
(C) (a)and (b)
(D) Only (d)

To follow the centre’s command.

Paper-I11
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35. 143 5 oamgol e58sm 8ob Q6 B8

Somohoiod 7

(A) 20856 wOREES
(B) oBwd 20085
(C) ©2BS 2mbBAES
(D) «0%6 2~BRAES

385 -1 S0 woweod IJE - 11659
@o-awés DO 28BS eoa:é 8%

H8ool

285 -1 388 - 11
(a) sPo%BodS rdae (i) elHw
() oG edee (i) OS

(c) Bol erdav
@ & apdae
5 :
(a)
@A
®B)
(©) @)
D) @

(i) DY -=dB
(iv) BarC"K0

(b) (c) (d)

1y G Gv)

(1) (i) @Gv)

(1) @ (v

() (@Gv) (1)

BoadE® Bols [Babdo NSGE KH[d

BBREPKo BobreRd D5bgore 8D

oJc‘Séoen DS KHBoSod ?

(a) SSSENESEIE 1y DSooToso,
Fohotohd KIGES Ko ehseored

®b) ©bESm 356 Tk RO HO

(c) HIBHP oo B Gen Frodo

@ BolBo egeds TS 5o

&gy -

&) (0 SrEd

B) (2), () SPED

(©  (a),0) 5rED

D) () P
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38.

39.

Paper-III

There are two statements one is labelled
as Assertion (A) and other is labelled
as Reason (R) choose the correct
Answer.

Assertion (A) :

State government is obliged to appoint
a State Finance Commission under the
Constitution.

Reason (R) :

The Quantum of money to be paid
annually by the state governments to the
local bodies is determined.

Which one of the following is correct ?

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)

is not the correct explanation of
A).
€

D)

(A) is true but (R) is false.
(A) is false but (R) is true.

In which of the following cases the
Supreme Court debarred the
parliament from amending the
fundamental rights.

(&)
(B)

Sajjansingh Vs State of Rajasthan.

Shankari Prasad Vs Union of
India.

©

Champarkum Dorairajan Vs State
of Madras.

(D) Golaknath Vs State of Punjab.

17

38. 808 (HOFES (A), HDH (R) o3 BoH

39.

(DEeSen agnan. O pRErT 362 o8
a)d 860 Dol IS SSPeeaed) o
Baod.

(PEFES (A):

olg (H8hEse TragorrHso ooGRpow
PR EWRSK AGETD.

THS R)

oG (Seharen Fhae (8% ooEpd’) 08
(BghExeH Jod aogés BTROF) Diiodo
orersoifod’ Jygorr éob.

&S 8&° D& $THS ?

(A) (A), (R) Bo&r JED&mr IBII

HBaso  (R), (A) & IBS DHBes

(B) (A), (R) Botr DEDAM™ $BSS =D,

(R), (A) % 8BS D8es 505

©)
D)

(A) &) =0 (R) 85
(A) ) 50 (R) ey

Bobfis® O Es® Brydix wido &%,
LS TP Foed  DSboSeratd
o DERA.

(A) DgSRoR Vs [ 6f ooays

(B) Ho¥B (HIE Vs d5arddHs «f

moldsir
(C) SoHsd FQores Vs 3_)35 &% D

(D) RPoSxd Vs RS ©F Sowrd
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40.

41.

Match List - I with List - IT and identify
the correct answer :

List -1 List -1I
(Authors) (Books)

(a) N.A. Palkhiwala (i) State
against
Democracy.

Indian
constitution
defaced and
defied.

(b) Granvelli
Austian

(i)

(¢} M.N. Srinivas  (iii) Indian

constitution :
The
Cornerstone
of a Nation.

(d) Rajani Kothari (iv) Social change

in Modern

India.
Codes :
(a)
@)
(iv)
(1)
(1i1)

(b) () (d)
(v) () (i)
) @) (i)
(i) Gv) @
® G @)

A
(B)
(C)
D)

“India is a Unitary State with subsidiary
federal principles rather than a federal
state with subsidiary Unitary
Principle.” Who made the statement ?

{A) K.M. Munshi

(B) K.C. Wheare

(C) Sardar Vallabhabhai Patel
(D) Dr. B.R. Ambedkar

Paper-II1
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40.

41.

IR AL W

388 -1 &% womred 5858 - 11559
wozed® Homr 285HHHT $B8 SEH
roBotiol :

HGE -1 585 - 11
(Blonden) (H3seen)
(@) 8.2 FYrer () [S INIP
) aarEd
b 82 &S (i) 2oBHS
S°R)§é.w°§a’a.5,
BT ©of 838
(¢) V0.8 IR (iii) oBSHS
?&)?3&3:33’15 '8
96&553;5 &
d FRS
(d) Sad £ood (iv) DR Tof BS
SIS nodasr
g8, :
@ (b) () @
A @O Gv Gi) (b
B) @(v) @) @ (i)
© @) @) Gv) O
®») @) @ G G

“PBIBEY Toarsorio NS Bolls oFsren
(SeeSone, éeﬁrqné oftrer SENIT &)
Tremgolid. & 88t Seder ©b Kiovang
oferen eh¥ore Ko, 's*o@ée)é oFescen
SENAP Ko TreRgorio 2. wd I ?

(A) B o. S

(B) 3.% 36

(€) Heb Seggron SBS
D) %6 D.e8. woBb
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42. Match the following : 42. 38% - 160 vorroH S8 - 150

List -1 List - I ©OTOE JOT 2EHHHHT $/S LS
(a) Dr. Rajendra (1) State &Qoéf& : »
Prasad Reorganization G5 -1 385 -11
commission (@ g6 vdol (i) oo
(b) Jawaharlal (i1) Telangana issue (s DB
Nehru BAS
(¢) Fazal Ali (iii) Objectives (b) e5FEerd JHe (i) Boorres @
Commission Resolutions SDO‘Dé.:n
(d) Sri Krishna (iv) Chairman of the (©) P8 odEHSS  (iii) OO @O‘gﬁo
Commission Constituent o
Assembly (d) @ée)é (iv) Trezsgos
Codes - N ARSHE B3
@ B © (@ e
A Gv) Gi) @ G gy :
B) @Gi) G) @O (v (a) (b) (c) (d)
.. e g . 4) Gv) (i) @O (@)
SO ® @) @ @ G
D @) @ @) G (C) @) @i) @ Gv)

D) Gv) @) () Gi)
43. Articles from 14 to 18 deals with :
(A) Right to Education
(B) Right to Equality

43. 5 TePgoKost 145 0§50 Hod 18
S 0fESmo B '&5‘&2633&:6 By 28 ?

(A)  DowgsiEy
(C) Right to Religion (B) BErIEy oy,
(D) Right to Information ' (C) %8 oy o5y

(D) BEPE
44. The Right to assemble peacefully is
considered as corollary of which of the | 44, =o8dcmSorr S5r3%0 @5535 By O (SR
following rights ? a’s°§>2,e35 @oéb‘gﬁa’m 0
(A) Right to freedom of speech and (A) FrSHELS $HB%n a8 3‘560@
expression. ot 5
(B) Right to form association. (B) ﬁoéo % 5%5 %3 50 é‘”&

(C) Right to Religion. ©) %o 3255 0@55 ;{pg&
(D) Right to vote. (D) o 53°§3&
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45.

Match the following :
List-1 List - II

(a) Right to
equality

(1) Article 352

(b) National
Emergency

(i) Inter-state
boundary dispute

(c) Mahajan
Commission

(iii) Centre - state
Relations

(d) Sarkaria (iv) Article 14

Commission

Codes :

(@ (b) (© (@)

A Gv) @ @@ 3G

B) @) Gv) (@) @)

€©) @ Gi) G (@Gv)

Dy Gi) G Gv) @)

46. Which one of the following is not related
to New Public Management (NPM)
Orientation in public administration ?
(A) NPM’s focus is on outcomes,

rather than inputs.

(B) NPM’s explanatory targets are
efficiency and customer
satisfaction.

(C) NPM is essentially a new brand of
organisation theory.

(D) NPM acknowledges the unique
Cultural and Political role of
public goods and the public sector.

Paper-I11
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45. 38% -1 &% wosrod S48 - 11589

46‘

woes® JOMr =EH5%HHEE KBS 6D
H8oSod -

SE5 -1 S5 -11
(a)

(b)

JErIE 5% (1) ©§B6e: 352

8D ©dESE (i) ©08507g
‘66?38 665’3‘63 DaPL0
(¢) P28 BHAS (D) éo@ﬁ—c"[é
QDoDOTFLD
(d) Sovpate EXES (iv) ©§Ese 14
§55‘3 -
(a)
(v)
(ii)
1))
(iii)

(b) (@ (@
@ @@ @
v) @) @
(ii1) @Gi) (@v)
(i) Gv) @

A)
(B)
(€)
)

Be0y PSS’ S8 (Hehdy Ao
(08.5.90) wed Bod 88 Ho
[oohH[Hd % ?

(A) & 35.8.90. 938 SdesvesH
So2050d0d o aSHeHH
dowohodod =%

(B) 95.33.&)0.3"{»%0, DIDeN oS

DoE)HE (ErrgEdRod.
©
)

DR.%.d0. B a’aega’aﬁa dpodo
= ® r

25.9.d0. (SaasSoro, (S
Jorcired Ko &oﬁ@é’ié, orasdcs
DRSS H8R08.
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47.

48.

Who among the following, have
contributed significantly to the studies
conducted by the Comparative
Administrative Group (CAG) ?

(a) Ferrel Heady

(b) Ralph Braibanti

(¢} Dwight Waldo

(d) William Willoughby

Choose the correct answer from the
codes given below :

(A) (a), (b) and (c)

(B) (b), (c) and (d)
(O (a)and (d)

(D) (a), (b), (c) and (d)

Which among the following are the
features of Participative Management ?

(a) Overlapping Structures

(b) Cross-functional linkages

(¢) Multi-directional Communication
(d) Effective man-to-man relationship

Choose the correct answer by using the
codes given below :

(A) (2) and (b)
(B) (b) and (c)
(C) (a), (b) and (¢)
(D) (a)and (d)

Paper-II1

47, SHo>HE o Byolo (K068S

48,

oBRRAS DS BosS JosHes®,
rer (S50pPd SSden ID5BDSE
B0l ?

(@) 85 ted

(b) o°e‘§3 {Berod

@ &5

(d) DdckHo 5D

8% S8 $00D 3B o) JoSHE S :
(A) (a), (b) Sdxw (o)

(B) (), (¢) B (d)

(C) (a) 2Bas» (d)

D (a), (), (c) B (d)

80d srBE° TPryy VT’ (GHes
HITD0S)E $o2080DS wogven DD ?

(@) 5088 doypren (L355em0R %)5)

b) DS Dqﬁe;a Sy Somogo (&°%
PogSS DOERT)

(©) o50lgy SSrEoes
(HD-BBESS SmgIBGS)

(d) =58 -&b 358 -SSomogre Do
DDES SogS-en~5S 88KS)

Bod 8ok $BS earar JoDHSBod :
(A)  (a) SBc5w (b)

(B) (b) Hdaw (c)

©) (a), (b) O (c)

(D) (a) Sodas» (d)

SIS0
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49.

50.

51.

- (D)

Which one of the following thinkers has
rejected the principle of the unity of
command and supported functional
direction ?

(A) Peter Druker
(B) Fred Tailor

(C) William Ouchi
(D) Abraham Maslow

Who among the following said that “in
a hierarchy every employee tends to
rise to his level of incompetence” ?

(A) Fredrick W. Taylor
(B) Marry P. Follet
(C) Peter F. Drucker

Laurence J: Peter

Following are two statements, one is
Assertion (A) and the other is
Reason (R). Select the correct answer.

Assertion (A) :

Max Weber's bureaucracy is based on
‘rational-legal authority’.

Reason (R) :

Bureaucracy in the developing
countries is marked by redtapism,
nepotism and favouratism.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A).

(A) and (R) are true but (R) is not
correct explanation of (A).

(A) is correct but (R) is false.
(A) is false'but (R) is true.

(B)

©
(D)

Paper-III
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49.

50.

51.

AN

‘Grdd 6F SErol PESH 885D
$oEIS BBES PSR MEBODK Bt ?
A) 568 %56

(B) (P& Beb

(C) DHOHo 2.88

(D) oo Srk

‘@& (BedrS ?{Jeg&ée 28 5&;&»@’5&) ey
83 oiEH @XHYE Fond VoHTodH
SR Dewody e vHd B ?

A) PEE Sops Bob

(B) B . 8

(C) 566 a9, (X85

(D) o8BS B b6

8ot [BOFES (A), PHH (R) o3 8o
(BBerden aTnow. TR PPIEre SHD 8ol
ad)s o Dol JPI DHPEFTY JodE
Do :

DE;SS (A) :

56 3086 &b HiesHE NP
@&';6 ééé“gné ‘.fi;ie%imd:. ?
THH R :

DB BoHHF) Berod® asfKIugno |
208, Pigo HBk JEE P8R8
B0ENOBN DERFL.

555“) .
(A) (A), (R) Dokr JEDEM $BII
$805m (R), (A) ® 8BS DSBew
(A), (R) Boe DEDEM $BIS SO,
R), (A) S 35BS DH58ee T

(A) &3y R (R) 83

(A) 85 =0 (R) 2.5y

B)

(€
@)
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58. ‘The citizen and the administration :

Redress of Grievances’ Report
published by the government of UK ig
popularly known ag -

(A) Whyatt Report

(B) Atkinson Report

(C) William Report

(D) Nothcote - Travelyan Report

Before 2gth January, 1950, the Union
Public Service Commission wag known
as:

59,

(A)  Public Service Commission

(B) Federa] Public Service
Commission

{(C) Central Public Service
Commission .

(D) Imperial Public Service
Commission

60. During passing of budget in the

Parliament ‘Guillotine’ is applied to
those demands which are -

(A) Discussed and approved

(B) Discussed but not approved
(C) Discussed and reduced

(D) Not discussed for want of time

61. Arrange the order in which the

members joined the ASEAN.
(a) Brunei Darussalam

(b) Vietnam

(¢) Indonesia

(d) Myanmar

Codes :

(4) (@), (), (¢) and (@)

(B) (), (¢), (b) and (a)

©)  (©, (@), b and ()

D) ), (@), (c) and (@)

Paper-I11
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58. a3, 800 HHBoKa:s ‘8 DSBS

59.

60.

61.

©08 &5 0QIA[KS : 6ES 65 BIT ey
& 808 dore Sroe B Froasa -

() Soe5 o265

B) ©E8SSS o35

©) D0a%o earf

D) 5685 - (30055 SvpS)

262335358 1950 $083 Swoth
R0 ST % o
(A) 385 &8 52055
(B) 2555 596 $6% s2055

© oS 55 36 055
D) 2050uHS 598 ¥6% S

CrPDSHS JH8
HBoTR ;

PEDotSst DEED e80T B30
ADOLISH O Bsrolys $805EYS 2
(A) S8j05K0 Sk S8IrHoSLo

(B) SHosEo Dbk VIPHOSEDFSEo
() ::56'.)0:5660 blateuint a‘s’{}oiﬁ&o.

(D) Jocsrerso 89 SBoSEDS 520

DRAFT (ASEAN) & Rafed) Sysons
oo B 9B8@S (Eost BOHm.
(@) (20 BN

b)  dabene

(© =0853Fn05w

(d) a’nd‘bmés

85 :

A) @, ®), () 28050 (d)
®B) (@), (o), (b) 6k (a)
©) (@, (a), b B (d)
D) ), (a), (o) S8k (d)
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62.

64.

63.

India’s Look East Policy was launched
in year :

(A) 1990 (B) 1991

(C) 1992 - (D) 1993

Which year is marked as the year of
India China Friendship and
Co-operation ?

(A) 2012 (B) 2010

(C) 2011 (D) 2009

Match List - I with List - II and select
your answer from the codes given
below : '

List-1 List - 11
(a) Yalta Summit G) 1919
(by Warsaw Pact (i) 1961
(¢ Paris peace (ii1) 1955
(d) Belgrade Summit  (v) 1989

Codes :

(a) (b) (o) (d)

@ @ G @ @)
® O G Gy )
(€ Gv Gi) G @

@) Gv) G @ )

Paper-III1
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62.

63.

64.

EROIVOAM A

E s Ertyiee B0 S DR
5 BosHEEe® |Frsododod ?
(A) 1990 (B)

(D) 1993

1991
(C) 1992

PSS -Be Gave Y b oo

KoBosnds SosETo |
(A) 2012 (B) 2010
€y 2011 (D) 2009

$85- 16 wowod  IHE- 1s*
ool BOm wEHshHES $oS SED
oBosol :

585 -1 585 - 11
(@ o SEERsE» @ 1919
©) oo oo (i) 1961
© 6% w08 adjoto (i) 1955
@ BSRE ssrado Giv) 1989
g8y :
(@ (b) () @
A @ G @
B) @ @G @) @)
© Gv) @) @ O
D) Gvy (i) @ G
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65.

66.

Consider the following features of Karl
Deutsch’s model of political
communication and select your answey
from the codes given below :

(a) He considers
Machine.

Society as a

(b) He builds up a dynamic model.
(c) He rules out the role of feedback,

(d) Government is a form of
administration of communication
Channels.

Codes :

(A) only (a) and (c) are correct
(B) (a), (b) and (d) are correct
(C) All of -them are correct

(D) Only (d) is correct

Who among the following propounded
the ‘Doctrine of Limited War’ ?

(A) Morton Kaplan
(B) B. Liddel Hart
(C) Woodrow Wilson

(D) Theodore Roosevelt

Paper-II1

65. =§ o P8IFB0DS coeafan ($s

66.

DAPE BowoRodS ©oseed® $6GHS
FED D8ORS,

(&) =% “"a’ma‘&)& a8 cholgo’ne
RO,

(b) 28 K8des SHraeso QBoweH.
(0 285 DErE B BEGBo.

(d) =28 cSe)aeSG 10808 oS 28 (DS
a’::vcsééao eroBH.

%%,y :

A) (a) :ﬁaém () SED BBGD
B) (2, (b) $65» (d) SEFoHD
(€) o) B8GID

D) @) SrEd SogHss

& 808 88° BB a20g Rrposey
S (DSFBOTEE ?

(A) $»5S &35
B) 9. 086 5
(© & dens

(D) &@Brreb 63055%)'5'
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67.

68.

B)

Which among the following 1s not a
tangible element of power ?

(&)

Population

(B)

Territory

(C) Industrial Capacity

(D) Foreign Support and Dependency

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statement carefully and in the context
of the above two statements identify the
correct answer from the codes given
below :

Assertion (A) :

Significant contributions were made by
NAM in the preservation of peace and
disarmament.

Reason (R) :

NAM advocates peaceful co-existence
ag its foremost principle.

Codes :

(A) Both (A) and (R) are true and {R)

is the correct explanation of (A).

Both (A) and (R) are true but (R)
is not a correct explanation of (A).
(C) (A) is true but (R) is false. -

(D) (A) is false but (R) is true.

Paper-III
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67.

68.

O O A

& (Bob TS ‘FE Dhchod® Horr
ED%oSHnSodl wodo :

(A) =a3ree

B) RS |HBdo

©) BFWE TG0

(D) Beee HEdh SO0 VGrdd

8085 (HOFES (A), THD (R) ©F Botd
8esen damon. O g S8 8ol
=) 880 ©od JPS JSrgraeR oD
Bcs08 :

|BBPES (A) :

F08 H68Em, VoecsohEsn dhchod®
ob3$ afoin Jodms ad@Brrssos.

65 R):

obis ag5onn G Svigres® ‘ToBoing
S5E5S0" OO PP Jov|gSm.

§55‘3 g

(A) (A), (R) Bo&r DBDEM™ IPII

$Ba  (R), (A)%H 58S DStes

B) (A), (R) Bor DADEM $BSS 59,

(R), (A)% 3B DHBe S
©) (&) el =D (R) &Y

(D) (A) 85 0 (R) 2y
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69.

70,

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context
of the above two statements, identify
the correct answer from the codes
given below :

Assertion (A) :

Morgenthau believes that in realism,
Foreign policy is based on any other
consideration except national interest
found to meet failure.

Reason (R) :

He does not precisely define national
interest.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
18 not a correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

The idea of dependency evolved in the
1960s in ;

(A) Asia
(B) Europe
(Cy Latin America

(D) Africa

Paper-III

69.

70.

oS (SBFES (A), THH (R) o Bo
(E8o8en axmon. 8 RSP 36D 8ok
83 86 B0l $BS SEPEETY o
Dok, '

(BOES (A) ;

SrBog® EE$o8® B0 Doreso s
BArasre GErBT AanoSnEsdE, wb
Sorr PeHHHos.

&P (R) :

. &r806° wrlch HBrazresy Dy

ADoSBE.

S‘% :

4) (A), (R) Bokr 2AD&m 5353
D8 (R), (A)H $BS DSe

(B)  (A), (R) Bo&r DBI8M 585 =9,
(R), (A)% 3BS I8 oo

© Aegy sd (R) sy
D) Q)& =0 (R) ey

SO grS depodo 1960 of° & BHS
BeodadS O Todt 0DEDoSDEEE ?

(A) eddr
(B) oS35S
(C) er8S oo

(D) eods
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71. Arrange these nations in the order they
acquired Nuclear weapon capability in
the correct chronological order.

(a) North Korea
(b) Pakistan

(¢) India

(d) China

Codes :

(A) (@), (@, (), (@) -
(B) (@), (b}, (0), (d)
© @, @ (@, ®
@) (@), @), (), ()

79. Match List - I with List - II and select
your answer from the codes given
below

List -1 List - I
(Treaties) (Year)
(a) Reikjavik Summit (1) 1996
(b) Intermediate Range (i) 1991
Nuclear Forces
Treaty
{(¢) Strategic Arms (ii1) 1987
Reduction Treaty
(d) Comprehensive Test (iv) 1986
Ban Treaty
Codes :
(a) (b) () (d)
A @ G @) G
(B) (v) (i) @) @
(€ @) vy ® @
D) Giy @ () Gv)

Paper-111

AR AL MR

& OHBS eTonre &&%550 BOAD
Boror adwdid. B S8FI
SoEHEne® s,

(a) &85 E°0csr
) >8>S

(0) BEREHD
@ 3=

g8, :

@ @, @, ®), (@
(B) (@), (), (), (d)
€y @, (), (@), ®)
D) (a), (@), (© ®)

71.

72. 34% -1 %0 wozod SGE - 11650

woBes® VOrP wEShiHHE IBS &
HBosod ¢
588 -1

(e.SyoTren)

(a) DEDE PR FW

(b) 20oe5885e Bok
SrsBonb YRS B8

(©) peas o) BEES
B8

(d) solFeYS B S (iv) 1986
Bé

&5 :

(@ (b) () ()

@ G) G Gv)

@) @Gv) @) @ @

(©) @) Gv) @) (Gi)

D) G @ Gy @)

S8E -1
(HoiEse)
(1) 199
(i1) 1991

(1) 1987

A)
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73. Who regards National Interest 48 3 | 73, “erfcdh (BRramrodd NES S oeasdass
D

compromise of 'confhctmg. political ISBracoss; ol Dot Bk 48
Interests and is proportionate to e

capabilities of a country ? Prrsert DS dotron.” wd
6?
(A) Burton 8D T IS 7
: (A) a8S
(B) Nicholas (B) 25%S
(C) Morgenthau (©) 553‘? o8t
(D) Joseph Nye D) %53

74, BPodEses chikos® STETTRY (282008
?oagoéo :
(A) @e):)é)s’ae)g (2086850HTHot5)
(B) '&égao&wa éé&’)%
(C) adwoy éoﬁ&gé o0
(C) Multiculturalism D) JdZw - 58) yes o
(D) Neo - Marxism

74. Liberalism in the era of globalization is
invoked as a theory of :

(A} Underdevelopment
(B) Capitalism

75, 1994&° 28A8 GATTSsrddoss Erersge
HPoDS wodo :

(A) %S‘T’D ey
(B) QHSHEH Jerod Hoseen BSHome

75. In 1994 GATT negotiations were aimed
at;

(A) Free trade.

Soho
(B) Zero tariffs on imports. (C) 25 Beve oty ose 5533{”0?235
(C) Inter-state exchange of tariff DENE oSreses
concessions. D) sl (@805 oD @B
(D) Imposing of Economic Sanctions B0 DJosto
on terrorist states.
-o0o-

-o0lo-
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